20255 EWERAISK SRR

(BREHAENREXR=TRE E&

20254 £
EEIN-] SRR
£k HEeH | 1REE 1XRERE 1REE k=
L& g 5 TER i 240 10% 240 182 0.76
BB XEE L& i 200 20% 200 146 0.73
BEMIL&IR ERIERI-A £y 80 50% 80 30 0.38
BEHILHER ) T7HERI-R £y 80 50% 80 51 0.64
ek =Tl L& # 160 30% 160 175 1.09
= L& i 200 10% 200 288 1.44
RINE L& i 240 25% 240 285 1.19
REEW L& i 240 10% 240 328 1.37
F=doi NXREHEI-R i 40 40% 40 15 0.38
F=doi HRHEI-A i 40 40% 40 2 0.05
EHWL L& # 80 30% 80 40 0.50
KAREZE B Ta# # 40 50% 40 8 0.20
£ | L& # 160 10% 160 119 0.74
2 L& # 80 30% 80 67 0.84
A3 L& b 240 30% 240 189 0.79
& B L& i 240 30% 240 233 0.97
B £ LaEw +H 240 10% 240 276 1.15
& H Laaw # 120 20% 120 88 0.73
B A Law +H 240 20% 240 260 1.08
B A BEfwonza EERH H 40 50% 40 15 0.38
& =%k L& # 280 20% 280 425 1.52
WEMILWE L& # 280 20% 280 374 1.34
wWesE— TER i 320 10% 320 433 1.35
WEE= Laaw i 240 20% 240 337 1.40
wWesE= L& # 320 10% 320 386 1.21
we—% L& H 240 25% 240 245 1.02 O BRPEALDEFEEZED
e L& i 240 10% 240 250 1.04
WEE TEF # 200 50% 200 227 1.14
e L& # 280 20% 280 355 1.27
W& mLWL L& # 160 30% 160 249 1.56
LEH L& i 240 40% 240 302 1.26
£ LER # 160 20% 160 139 0.87
E A L& i 240 10% 240 346 1.44
& X TER # 80 30% 80 49 0.61
FETH L& i 120 40% 120 61 0.51
% W L& i 240 20% 240 268 1.12
& EE Laaw # 240 10% 240 265 1.10
2R ) L& # 40 50% 40 6 0.15
=l L& i 240 20% 240 267 1.1
113288 TER # 240 20% 240 216 0.90 OffFRFENMSDEREEST
0w B L& # 80 30% 80 78 0.98
oW L& # 40 30% 40 8 0.20
A=k L& H 80 20% 80 34 0.43 OEHERERE28ZEEST
EHE— L& i 200 10% 200 276 1.38
= TEF # 200 30% 200 282 1.41
EWILE L& i 240 30% 240 149 0.62
F AF L& i 200 30% 200 221 1.11
B A L& i 120 40% 120 46 0.38
B H L& # 80 50% 80 41 0.51
SNEEICETLIER R HEH # 40 20% 40 53 1.33
WBEE HEER # 40 50% 40 59 1.48
HHIZEAYTHEHR WEE= BHE H 80 30% 80 112 1.40
W& mLWL HHF # 40 30% 40 40 1.00
EfMREZHEIER  ZEH KERZER # 40 40% 40 60 1.50
EHE— ERFERR - EBRERR X 80 10% 80 121 1.51
EXRIZEAT5ER BEEE WALV 2 AR ® 160 30% 160 90 0.56
K REZE TETYIUR ® 40 40% 40 43 1.08
K REZE WALV 2 AR ® 120 40% 120 119 0.99
BEEEEE BEER # 80 30% 80 12 0.15
1B £ Y A% +H 80 10% 80 98 1.23
WEFRILNEREE EER # 320 40% 320 388 1.21
£ —AEELnNA FREY R AF # 40 50% 40 30 0.75
BRBEEE BEER # 40 50% 40 28 0.70
w B BAE # 80 30% 80 43 0.54
A=k TEEREY AR H 40 20% 40 8 0.20 OE R EHEESD




202545 &
EEIN HEEK R

£ HeH | 1REE 1XRERE 1REE

TXICEAYT %R AEITE HEWE H 40 40% 40 47 1.18
EEITE BEXIERE # 40 40% 40 35 0.88

EEITE =23y # 40 40% 40 45 1.13

RET%E T RYATLFE 3 40 40% 40 46 1.15

EEITE BEH # 40 40% 40 36 0.90

£ ) R # 40 30% 40 27 0.68

2 I EFI¥H 3 40 30% 40 20 0.50

2 )l REBHE#TR i 40 30% 40 10 0.25

SALBRFE B TR # 40 50% 40 27 0.68

I % R # 80 30% 80 90 1.13

I % EFEWE # 40 30% 40 47 1.18

I % ERF #* 80 30% 80 85 1.06

I % IEHRE TR # 40 30% 40 67 1.68

I % b2 IT%ERN #* 40 30% 40 39 0.98

I x 1o7)7H #* 40 30% 40 69 1.73

BEILXE HEWE # 80 40% 80 65 0.81

BREIXx BEXE H* 40 40% 40 40 1.00

BREIX TEER H* 40 40% 40 11 0.28

BEILXE BEH # 40 40% 40 35 0.88

BREIX TR #* 40 40% 40 18 0.45

WEMIWNETE BEH # 30 40% 30 31 1.03

WEMIWNETE HEWE # 60 40% 60 81 1.35

EMmIILETIE BEXE #* 40 40% 40 47 1.18

WEMmIILETIE T KH #* 30 40% 30 39 1.30

WEMIWNETE 1EHRE # 40 40% 40 48 1.20

BRBREEE HEWE # 40 50% 40 30 0.75

BRBREEE B5H # 40 50% 40 20 0.50

BRIBEEE IEHREMTR i 40 50% 40 32 0.80

HINITE T RIEHRE H# 40 35% 40 67 1.68

HINITE BEH H# 40 35% 40 45 1.13

HIIE BERETH P 40 35% 40 45 1.13

HINITE HEWE H# 80 35% 80 101 1.26

HITE =23y H# 40 35% 40 56 1.40

BEICHTLIER KiAIRESE BEHEH H# 80 40% 80 88 1.10
MEEZE BEH it 40 50% 40 16 0.40

MEEZE BERWE H# 40 50% 40 23 0.58

MEEZE SRR H# 40 50% 40 18 0.45

INFHER BERPI1-2 H 40 40% 40 37 0.93

INFHER B+ AK1-2 H 40 40% 40 38 0.95

BRBREEE BEH H# 40 50% 40 23 0.58

O EERTMTH # 40 50% 40 3 0.08

B % BEH-BEHE it 120 20% 120 137 1.14

B % BEEEWE it 40 20% 40 42 1.05

B % BRtEH it 40 20% 40 37 0.93

B % HEER i 40 20% 40 35 0.88

B H BEaHEH H# 40 50% 40 20 0.50

KEIZETHEH SALBEFE EHREER H# 40 50% 40 23 0.58
SALBEFE EERER H# 40 50% 40 34 0.85

K E AaRERF # 40 50% 40 22 0.55

K E EYREFR # 40 50% 40 29 0.73

K E B&E # 40 50% 40 33 0.83

REICEHTIEH %4 B R H# 40 30% 40 48 1.20
W EJue H 40 40% 40 17 0.43

B B EJue H 40 50% 40 8 0.20

EEICEHTOER B A EHEH H# 40 30% 40 49 1.23
12ALICRE T 5% F BRBREEE fBHER H# 40 50% 40 16 0.40
AEIZETHEH & H KEH H# 40 90% 40 29 0.73
F AF AR -YRIER H 80 90% 80 65 0.81

EMIZET5EH TR ESugs H# 40 60% 40 72 1.80
we=EH # B Y=gy o H 120 50% 120 62 0.52
R&d Y=y 5 H* 160 30% 160 88 0.55

INFHER waess H# 120 30% 120 128 1.07

B B Y=y 5 H 160 50% 160 105 0.66

 H Y=gy 5 H 120 50% 120 35 0.29

=g = H 120 50% 120 32 0.27




